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1. A peir of dics used to pley the game of creps in a Lalos Tehoe casine is suspacted of baving been
tempared with. Specifically, it is balieved that this pair of dice hos baea “loaded” so as b produce
the sum of “T" an sxcoplional mumber of times. When the dice wers rollsd 100 timsw, they produced
s mum of “T 25 timen.

) Crosls snd interprot u 9% confidencs interval to ostimats the percontags of imes a “7" would
ba rolled

b) What would be the probability of relling a sum oE“T" on Fair dice?

) Does this sample provide sismificent svidsace that the dics are loaded?
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2 A beitery manufacturer randomly quality control basts ite products. The standerd devistion of the
operating lifs of a "D" size baiteryis 3.0 Bours. A samapls of 9 baitaries has & mesn operting lifs of
— —_20 bours. Thumﬁﬂruddm“ihbihﬁuhmnnﬂnopuﬂiuliﬁo!ﬂbln

a) Creats and interpret 2 95% confidencs inkerval For the msan number of hours 2 "D" battery will
lust.

J—

b) Should the menufacturer ba concerned abo uk his cleim st the 3% lavel of significenca?

‘ §@M§*d]5f. 1S nol Mmal /DLZ MesN oper. |\ Le ok Db&ﬁ@_ry
1§ n230 o fop 150l ma| H - |
P , DT 23 mean lige
N=q A and T donk o M “ 025D

Know (0, . (s morme|  Ha //\ <09 oo \'{; 'b\/\moxh_ug.
AND ¢ bon’+ hove thg rfO\SOV\eJrcl)g\g:Z@Sr\ccrm&.
SAMPIL duen o grap W ard
S § s reasonalde 1o assane
"r)'wasmw POP. IS normal
Proceed w/ aaution i,
75( al50 asspme 4hese A Lt Gra
( an SE § a%-al) +ho COW\&)O\V\ ’
D eath, -

\guc} What sssuraptions urs you making in order Eor this test to be valid?
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